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9/24 [LEFTM 10/02 HETH RU.9/22 #EFEM 9/30 FEHTMH (25F:8)

AR E—R RN 198000 = 168,000 M
RAE—RiE 248000 = 218,000 M
TIVIARSUE 320000 = 270,000 M
T73)—R_RSU5 400,000 = 350,000
AV IITadsR 360000 = 310,000 [
TITISR 440000 = 390,000 M
AHA R4—bk 600000 = 500,000 M
L JVTAR4—b 750000 F = 650,000
A4 IJLAs—bk 980000 = 880,000 M
RUMNGRAR4—F 1,300000 @ = 1,200,000 M

9/25 JbAMNEEM 10/02 BOETM KRS, 9/22 HGEFEM 9/29 FEATM (3 EA)

ARAUE—R R4 198000 = 153,000 [
AR E—RiE 248000 = 203,000 M
TIVIARSUA 320000 = 245,000 [
T73)—RS5 400,000 @ = 325,000
aviIIPasIRA 360,000 = 285,000 [
TIOTISR 440000 = 365,000
ABAR4—bk 600000 @ = 450,000 M
LI T4 R4—b 750000 @ = 600,000
A4 J)LA4—k 980000 = 830,000 [
RUMNYRR4—k 1,300000 = 1,150,000 [
9/22 HEEFEM 9/28 £IRTM (4 EA)

RAAUZ—R R 198000 = 138,000 M
AT —R i 248000 = 188,000 M
TIVIARRNSUHE 320000 = 220,000
T73)—RF5 400000 = 300,000 M
AUV IITasSR 360000 = 260,000
TITITR 440000 = 340,000 M
ABAR4—bk 600000 = 400,000 M
LIV TAR4—b 750000 F = 550,000
A/ IJLAs—bk 980000 = 780,000
RUMNGRR4—F 1,300000 @ = 1100,000 M
9/24 [REFEM 9/28 £RTM(6FA)

AR E—R R 198000 = 108,000 [
ARRAE—RiE 248000 = 158,000 [
TIVIRARNSUHE 320000 = 170,000 [
T73)—RS4 400,000 @ = 250,000 [
AUV IITPasSR 360,000 = 210,000 M
TIOTISR 440000 @ = 290,000 M
AHA R4—bk 600000 @ = 300,000 [
LI T4 R4—b 750000 F = 450,000 M
A4 IJLA1—bk 980000 @ = 680,000 [
RURNJRAR4—b 1,300,000 @ = 1,000,000




